LOMPARISONS

AGE: 13 YEARS OLD

|. AGE: 14 YEARS OLD |

. WEIGHT: 40 kgs.

- WEIGH: 35 kgs. - HEIGHT: 1,44

! HEIGHT: 1,33 | CAMILY: 6
| FAMILY: 4 | - HOUSE: 5 ROOMS

. HOUSE : 3 ROOMS

! FATHER'S SALARY: 2,600€ |

| SCHOOL MARKS: bad

. MOTHER'S SALARY: 2,900€

........... ] —

1.- Martinis ... (young) than Josephine.
! 2.- Josephine is ... (light) .................. Martin so Martiniis ............. (heavy) than her.
13- Martinis e (tall) e Josephine so she is ............ (short) than him.
* 4.- Josephine's family is ............... (small) ........ Martin's family.
. 5.- Martin's house is ............ (big) ........ Josephine's house.
I 6.- Martin's mother's salary is ........ (large) than Josephine's father's salary.
I 7.- Josephine's school marks are .................. (good) than Martin's.
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Complete the sentences with MORE/ LESS/AS/ or a comparative adjective.

1.-Paula is .................. intelligent than her brother Paul.

2.-Katherine isn't .............. fast as Barbara.

3.-The book is ................ interesting than the film.

4.-In my country, Winter is .................. (cold) than Autumn.

5.-The English grammar is .................... (easy) than Chinese grammar.
6.-Lorenzo's garden is ................. (nice) than mine.

7.-That boy is ................ (bad) than his classmates.

8.-Basketball is ... difficult than football.

9.- The girl has ............. money than he has.
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